Fifth Annual College Greek Exam (2013)

TIME: 50 MINUTES DO NOT USE A DICTIONARY
Write YOUR NAME at the top left-hand portion of your answer sheet. Write YOUR LAST NAME FIRST.
Be sure to FILL IN THE BUBBLES under your name. DO NOT change the identification number on the
sheet or add any additional information.

Mark the correct choice ON YOUR ANSWER SHEET. There is only one correct answer/choice for each
question. Choose the BEST POSSIBLE ANSWER.

1. The tense and mood of yeyovévar are
a. perfect infinitive c. imperfect indicative
b. aorist infinitive d. perfect indicative
(NOTE: Question #1 had an error and was not scored when the exam was originally given.)
2. Alowmog wrote
a. comedy c. satyr plays
b. fables d. tragedy

3. Which phrase expresses the underlined words? We reached for the sky with (by
means of) our hands.

a. ) xewol C. TNV Xelpa

b. taic xepotv d. amno twv xewwv

4. The present middle form that corresponds to the aorist éotnuev is
a. lotapevol c. lotapeda
b. lotapev d. é¢otnoapeba

5. The name Thucydides in Greek is written as

a. ®ovkvdidng c. ®ukovOdEg
b. Tnukvdidic d. Toukovdidng
6. Choose the pronoun that fits correctly into this sentence:
TUOTEVOUEV TOIG OTQATIWTALS ____ YIyvovtal otoatnyol.
a. ol C. oig
b. al d. aic

7. The sentence Aéyopev OtL kKalEOG €0TLV TIOTEVELY TOISC AQYXOLOLV is virtually
equivalent to:

a. XOr) VUV ToUG XQXOVTAG TIUOTEVELV T)ULV.

b. péAAopev Muels MOTEVELY TOLG AQXOVLTLV.

C. Aéyouev KAQOV elval TILOTEVELY TOLG AQXOVOLV.

d. Aéyovowv ol EXOVTES KALQOV elval TOTEVELV TOLS AQXOVOLV.



8. Choose the best translation for 0 ToUToUL TOU B€0V TEKVOV €TL KAKOV.
a. The child of this god is still evil.

b. This child of the god is still evil.

c. This skill still belongs to the evil god.

d. The skill of this god is bad.

9. Which verb is correctly accented?
a. £Te0Eg C. ETIECEC
b. éméoeg d. émeomg

10. What is the tense of ddaokoue0a?
a. perfect c. future
b. aorist d. present

11. The underlined words in ai yvvaikeg £éokdmOLY TOV HHALOV Kal €TTOQEVOVTO €l¢ TNV
TtOALv can be replaced by:

a. OKOTIOLOAL C. OKOTIOVMEVOL

b. okoTmetv d. okomovvteg

12. The translation of fjowtwv is
a. “asking” c. “I asked”
b. “loving” d. “they sought”

13. The tense of éAdAeLis
a. aorist c. perfect
b. imperfect d. present

14. Choose the adjective that best completes this sentence:

avtol kptvouev tovg TAOAG.
a. aUTAG C. OEAVTAG
b. éavtovg d. Nuetégouvg

15. Which is the comparative adverb of cadng?
a. oadég C. oaPeOTEQWV
b. cadpéotata d. capéortepov

16. The accusative plural form of otpatiTG -0V, O is
a. OTEATIWTNV C. OTOATLWTALS
b. otoatwwtag d. otoatiwtwv



17. Change the tense of ¢(pépete to the aorist, keeping the same person and number:
a. épuyete c. Nvéykate
b. éoxnkate d. épépeoOe

18. ot duvapevol
a. are unforgiven c. have had their power given to them

b. are powerful d. suffer under their own power

19. The accusative plural form of 6pog —ovg, 10 is

a. 0Qoug . 000G

b. 6on d. 6pwv

20. Fill in the blank: 6 HoaxAng TO 000G €IS TOV TTOTAHOV.
a. tilet c. TOnot

b. étiOete d. tbéaot

21. The adjective that agrees with the noun datpwv is
a. APEVOVQYV c. aplotwv
b. apetvawv d. ayabwv

22. The case of Vv is
a. nominative c. dative
b. genitive d. accusative

23. The form of the definite article that agrees with modyuatog is

a.o C. TOVL
b. 16 d. tovg

24. elmov serves as a tense of what verb?
a. aigéw c. 0Qdw
b. el d. Aéyw

25. The form which agrees with (modifies) BaoAéwg is
a. KAKWS C. KaKNG
b. kxaxov d. kakwv

26. Which of the following tells you to “get it”?
a. Aaf3é c. eimé
b. Aetme d. Atme



27. The form xotvat is a(n)

a. aorist infinitive c. plural noun

b. present infinitive d. feminine participle

28. Choose the noun that fits correctly into this sentence: ___ kaxoig ovdeig £dwkev
VOWO.

a. avool c. Yuvaukl

b. avdoaot d. yvvaui&t

29. The English adjective “ethnic” derives from the Greek noun
a. €0vog c. Bavatog
b. €tog d. téxwvn

30. Tovto is a form of which word?
a. 000¢ c. oUTOoG
b. avtoc d. ovdelc

Answer questions 31-40 based on the passage below. The passage narrates an adventure of
the hero Perseus.

1 éoxopevog d¢ eic ABomiav, Ng Pacidevg v 0 Kndevg, 0

2 Ilepoevg NEe v tovTov Buyatépa Avdgouédav Aetmopévnv
3 Booav BaAaooiw kntet. Kaooémewa ya 11 Kndéwg yovr taig
4 Oealg éuayxeto, mTaocwv kaAAloT eivat Aéyovoa- Ilooedwv de
5 tavtn) 0QYL00ELS ETTL TNV XWEAV TO K1TOg ETteue.

6 Avdoouédav Wwv kai ¢paoels 0 Ilepoelg amoktevetv

7 vrtéoxeto Kndet 10 kntog, el péAAeL avtnv avt@ dwoetv

8 yuvaika. €Mt ToUTOLS OQKOL £YEvovTo kKal 0 ITegoevg To pev

9 kntog éxTeLve, TNV 0& AVOQouEdav EAvoev.

AiBomia —ag 1) Ethiopia Kn¢eve, Kndpéwe 6 Cepheus

Avdoouéda —ag 1) Andromeda paxopal + dative fight against

Bood -ag 1) prey, meat for animals 00Yto0elg (masc. nom. sg.) angry
£oacBeic (masc. nom. sg.) having fallen in love 0gKoG -0V 6 oath

OaAaoolog —ov from or of the sea ITepoetc —ewg O Perseus

Buyatne —tedc 1) daughter [Mooewwv -wvog 6 Poseidon (the sea god)
Kaooténewn —ag 1) Cassiopeia UTeoXOUNV dorist < Dmoxvéouat promise

KTTOG —0UG 16 sea monster



YOU MAY SEPARATE THIS PAGE FROM THE REST OF THE TEST IN ORDER TO
CONSULT THE READING PASSAGE MORE EASILY.

31. Inline 1, éoxopevoc modifies
a. AtBomiav (line 1)

b. Baoirevg (line 1)

c. Kndevg (line 1)

d. ITepoevg (line 2)

32. The antecedent of tovtov (line 2) is
a. AtBomiav (line 1)

b. Knoeve (line 1)

c. ITepoevg (line 2)

d. Avdgouédav (line 2)

33. In lines 1-3 (0 ITegoevg ... knjten),

a. Perseus finds his long lost daughter.

b. Andromeda’s daughter is being sacrificed to a sea monster.
c. Perseus finds a princess in grave danger.

d. Perseus distracts the sea monster with bait.

34. The case and number of Kndpéwc (line 3) are
a. genitive singular

b. genitive plural

c. dative singular

d. accusative plural
(NOTE: Question #34 was inadvertently omitted when the exam was originally given.)

35. From lines 3-4 (Kaootémewa... Aé¢yovoa) we can infer that
a. Cepheus was proud of Cassiopeia’s beauty

b. Cassiopeia claimed Andromeda was the most beautiful

c. the Ethiopians were grateful to the gods for their queen

d. Cassiopeia boasted too much of her beauty

36. The antecedent of Tt (line 5) is
a. AtBomiav (line 1)

b. Avdoopédav (line 2)

c. Kaooiémewx (line 3)

d. Oeaic (line 4)



37. The translation of the phrase Avdoouédav dwv (line 6)
a. “when he saw Andromeda”

b. “because Andromeda knew”

c. “those who knew Andromeda”

d. “after Andromeda had seen”

38. The subject of uéAAer (line 7) is
a. [Tooewwv (line 4)

b. ITepoevg (line 6)

c. Knoet (line 7)

d. xnrog (line 7)

39. From line 8 (émti...¢yévovto), we understand that Cepheus swore to
a.  kill the sea monster
b.  give his wife punishments
c.  reward Perseus with a bride
d. give Perseus to the sea monster

40. Lines 8-9 (0 [1egoevg...éAvoev) tell us that Perseus
a.  was successful in fulfilling his promises
b. killed the monster, but lost Andromeda
c.  failed to please Cepheus and was killed
d. employed magical gifts to perform great feats

TEAOX
(The End)



